Regression Example: An experiment to measure the macroscopic magnetic relaxation time in (y) crystals 
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as a function of the strength (x) of the external biasing magnetic field (KG) yielded the following data 
	x
	11.0
	12.5
	15.2
	17.2
	19.0
	20.8
	22.0
	24.2
	25.3
	27.0
	29.0

	y
	187
	225
	305
	318
	367
	365
	400
	435
	450
	506
	558



The summary statistics are 
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a. Plot the scatter diagram and comment on the relation between relaxation time crystals 
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and the strength  
b. Fit the regression line between relaxation time and the strength of the external biasing magnetic and use it predict relaxation time if the strength is 30.
c. Test the hypothesis that the higher the strength, the more is the relaxation time needed. 
d. Find a 95% confidence interval for the true value of the slope. Can you use your confidence interval to test the hypothesis in part c? Explain.
e. If you asked to use only the confidence interval to answer part c. What can you do to answer part c.? 
f. Estimate, with 90% confidence, the average relaxation time if the strength is 30.
g. Find the values of the coefficient of determination and coefficient of correlation, and interpret your results.

h. Test the hypothesis that the value of population correlation coefficient is zero. 

i. What are the assumptions that you need to answer the above parts b, c, and d.
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